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& Diffie-HellmanO O OOoO4ododd o IO00000 &

(1976) &
[ KiHK*
oooooo
p: O00,be[l,p—1] e Given: p: prime, be [1,p — 1],
s.t. {¥'lie[0,p—2]}={1,...,p—1} a € {b'|i € [0,p—2]}
ooood Find: z € [0,p—2] s.t. a=b* mod p
ooooo Indpa 1=z
ooooo Ko e [1,p—1]
00000 K! = bKa mod p e 00O (x,b,p) — a=b"modp
000 K,O0O0O o
€r — (Cljnfcn_l “ e :1:1:1:0)2,
2 a = [To<i<n b®' mod p,
00000 Kye[l,p—1] — O(logp)
IEEEE K} = b mod p n=PAe9p
000 K,000 e 100 (a,b,p) — x
ooooo
00000 K = K;** mod p
0 0O K = K% mod p
0000 KOOOOOO




S 1000000000 o

e DD OO
— O(p)

e Square-rootl
- 0(Vi)

— [Op—-1000000

e 00000 (Adleman, 1979)
— Lz(o,B) :=
exp (ﬁ(log z)%(log log m)l—o‘)
— O(Lp(1/2,240(1)))
— O(Lp(1/3,1.903 + o(1)))

& Square-root O PollardO Rho[
(1978) &

e Monte Carlo (Las Vegas) Algo.
e JOODD: O(1)
o UL DOOMNOMO

o UL OUOLUOULDOUOLOUOLON
0og

ododod2300000
O0000O00o0oooooo /200

364 363 343 __
1—1><365><365><---><%—O.507...

v365 =19.104 ...



& Birthday Paradox &
S :set,ng = #S

rU000l0donoouoougon:

T ng—1+1 " ( i—l)
— 1—
5 L

no

Q
@
X
(o

r= \/Q(Iog 2)ng = exp

= O(y/mg) 00000
0000000000 0000

& Pollardd p0 0000000 &
Given: p=47,a=40,b =11

Find: Indya i.e. x s.t. a =b" mod p

1] 2] 3] 4] 5
o 353617 | 9| 3
3 3/41]15| 0|28

a®b® mod p | 27 | 43 |24 |29 | 30

6| 7| 8| 9|10

17116 |37 |38 |39
14| 7|17 25| 8

15140| 6|13 |30

a3b28 = 43968 mod D
=

o = b(8-28)/(3-39) mod p

_ 8—-28 _ 20 _



& Pollardl pO0 000 &
Algorithm 1 Pollard’s rho.alpha
Input: p: 00O, a,be [1,p— 1]

Output: z € [0,p—2] s.t. a=b* mod p

1: =20

repeat
1 =1+ 1
Choose «;, 8; € [0,p—2] randomly
¢; = a®bP mod p — 1

until 35 s.t. 1 <j<i,c; =g

cx = (B — B — ) T modp—1
/*aix + B = ajxz + B mod p — 1%/

8: Output z and terminate

o 9 ke

00000o0o0oon:
OQ@)HCN¢DJDp—1DDDDDD
00000o00oon:

O(\/}_?) — O(1)

S IOOOOO0O0O &

Given: p=47,a=40,b=11

Find: Indya i.e. x s.t. a =b" mod p

0ooooT ={2,3,5,7,11,13)}

#1000 relationd

1142\
113
1129
1111

1131
111)

[ 2 2
]5\ (3x5\
10| | 2x5
39| — |3x13
35 5x7
\11) | 11
/ 111nd112

11Ind113 < 11Ind115
11Ind112 o 11Ind115
11Ind113 « 111Ind1113
11Ind115 « 11Ind117

\ 111nd1111

/

mod ¢



(42\ (10000 o\ (Indllz\
3 O1 100 Ind113
291 _|1 01000 Ind{15
11| |0 1 0 0 0 1 Ind117
31 O 01100 Ind{111
\1/ \o oo o010/ \Ind;;13)
modp — 1
(Indllz\ (42)
Ind{13 16
Ind{15 _ 133 o
Ind117 — |44 modp — 1
Indq{;111 1
\Ind1113) \41)
40 x 1133 = 12
= 22 x 3 modp
=
Ind1140 = 2Ind112+1Ind113 — 33

2x42+4 16 — 33
21 modp—1

S 1000000 OOOOODO &

20+

Y 200 400 600 800 1000 1200

Key Length (bit)

O00000
[0 O Square-root [
0000000000
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S IOO0000OOOOOOO &

e 00DODDp0ODODODODO
e 220 OOoOoOoOoOOnoog

0o0oooooCo
= 2800000000000 OOO0

— Square-rootd O logop ~ 160
— 00000 0Ologrp=~1024 (?)

e JIDIMDODOOOOOMO
— Square-rootUlogo,pd 0 OO OO0
— OJO0OO00O Oogpdoooon

ool s0bdgbobggod

S 000 &

e 0000000 OODODODODOO
— F,:={00000p000000 }
—Fq.:={F0004000000}

F5 — {O, 1, 2, 3,4}

PWNROIX|[dWNROH

P WNRFEORFROP WN M
WKE PANONFROPDWNN
N PR WOWNRFODMWW
RFNWDOIPWNRr O IR

OCOOOO O I~MPwWNRHFE OO

12



o 10000 &

o I UIDOOOOOOULOOUOIDON
oot

- + = IFP? (Za@aRa C)
-+ N)
— x = Fp\{0}, (Q\{0}, R\{0},C\{0})
— x 7 (2)
o [} :=TFp\{0}

e IO UOOOO4+DOOON

S 000000000 o

o 1O DOONO
— Given: p: 00O, be[l,p—1],

a € {b']i € [0,p — 2]}
— Find: z € [0,p — 2]
s.t. a =b* mod p

U

e OO UOLOOLOOLOOLUOLOO
— Given: F,: OO p0O0O0O0O, b e I},

a € (b)
— Find: x € [0,p—2] s.t. a=1b"
J

o 10D NOMN
— Given: G: OOOOO, bedG,

a € (b)
— Find: z € [0,#G — 1] s.t. a = [z]b

—a=[zlb=b+b+---+b
x U

14



*G:Fp&

Given: b ey, a € (b)
Find: z € [0,p— 1] s.t. a = [x]b

#GOOOoOoooo
pl 160 bitO OO
square-root 00 0 00O 0O

000D
reZ/(p—1)Z0000000000ooa
r=a/beZ/(p—1)Z

N

T(p) = O((logp)?) bit-operations

& Pollard0 p0 0000 &

Algorithm 2 Pollard’s rho.alpha

Input: G: 00O, 00000, a,be G
Output: z € [0,#G — 1] s.t. a = [z]b
1. =20
repeat
1 =14+ 1
Choose «;,3; € [0,#G — 1] ran-
domly
c; = [ajla + [B;]b
6: until 75 s.t. 1 <j<i,ci=¢
7.z = (B; — By — ;)71 mod #G
/*aix + Bi = ajz + B; mod #G*/
8: Output x and terminate

B N

Jooooogoo:

(XM#G)%CN%DJD#GDDDDDD
000000O00o:

O(WV#G) — 0O(1)

16



S 1000000000 o o IO00000 &

e Square-rootd0 000000 0: Vi, C:F(X,Y)=0,F(X,Y)€eF,
0#G000000

e JIUIDDO GO
Juootdbogdbooububotdogdo

= 000000000000000000 . /\
T~
= 0000000000
0000000000000000000

Juootdboodod

Juoodbogdgbtobotdbootuogd
Joodboodoodogud

soubotobotdbtdbotdboubogo
Joodoodogogo

18



S 1000 &
E:Y2=X34+a4X + ag, a; € IFp

ODOOODODDOOO &
E:Y2=X34a4X + ag, a; € IFp

!
E(Fp) = {P=(z,y) € F?
y? = 2° + asz + ag} U {Poo}
!

E(F,)000000
#E(Fp) =~ p

20



S 00000001 &

PL+ P+ P3+ Py+ Ps+ Pg=0

P1

Y=V(X)

PS5

P3

P6

S IO0O0OOOOO2 &

U(X)=0

\

/x

22



o UOOODOOOOO0O &
P33 =P+ P

-P3

P1

/.

S UOOODOOOOOO &
E:Y?=X3+a1X +ag

P1 = (z1,y1), Po = (x2,y>)

P3 = (z3,y3) = P1 + P
Yya2—y i

\ 3335—3711 if P, #= P>
3;1:21—|—a4 if P = P>

yz = MNx1 —23) — Y1

oo s

I 3M or 4M

24



S DOOOOOOOOO &
F,0000000:
ab: M = O((log p)?)
a+b:0(ogp) €K M
a1l :T~20M
—a : 0(1)

ol +3M ~23M
20001 4+ 4M = 24M

Joodoodoooogood
Joodboodoouooboogoogo
20000000 ogof

Jooodootdboooubootdpotdod
1/500000000
oot otogd

S IOO00000O &
oodogdd

— #E(Fp) = O(p)

— Square-root0 0 dddnd
FOUOOOOOOO:

O (V#E(E)) =0 (vp)

FZDDDDDDDDDDDDDE(FP)DDD
O square-rootd 0o ooogng

Fy | E®p)
512 | 1207

1024 | 1607
2048 | 2207

4.3
6.4
9.3

26



S I OO000OOOOOOOODO & S 009000000 &

Algorithm 3 0000000000 C Y2 = X29+1—|—f29X29—|—- 1 X+ 1o,
Input: p: OO f; € F,
Output: A secure elliptic curve E and
#E(Fp)
1: repeat
2: repeat Y
3: Choose an elliptic curve FE
randmly [\ /\
4: Compute N = #E(Fp) /+000 0 u \/
000 %/ %
5: until N : prime #= p
6: until £ satisfies MOV condition
7: Output E,#E(Fp) and terminate

28



S 1000000000 o S 000000000 o

C:Y?=X29FT14fr X294 4 f1X+fo, | C: Y2 = X29T14 o, X294 .+ f1 X+ fo,

! |
C(F =4{P = , - FQ 2 — Jo(Fp) =
(£%g+1{—|‘—(|i£fz)}U{%|§ {D={h,..., P, € C(Fp) \{Px}} | n<g,DF = D}
| O(F,) C T (Fy)
C(F,)000000000 !

JoF,)0O0DODOO
#JIc(Fp) =~ pI

30



& 00000000000 (¢g=2) & & MumfordO O &

D3 = D1 + Dy, D; = {P;1, P;a} C:Y?=F(X), FeFy[X],
degF =2g+1

D={Pi,...,P, € C(Fp)\{Px}} | n<g,DP =D,
P, = (i, yi)

i P22
P32 l}

o LW, V) e (Fp[X])? st
fl xF’32 U= ]] (X—ua),

1<i<n
degU > degV,

U|F—-V?Z,
y; = V(x;).

(D)

Jc(Fp) = {(U,V) e (Fp[XD?|
lc(U) =1,
degV < degU < g,
U|F—-V?}

32



S IOO0000OO0O0O0OO &

Input Weight two coprime reduced divisors D1 = (U, V1), D2 = (Uz, V2)
Output | A weight two reduced divisor D3 = (Us,V3) = D 1+ D>
Step Procedure Cost
Compute the resultant r of U; and Ua. 4M
21 ¢ U21 — U11; 22 < U121, 23 < 22 + U10 — U20;
7« u10(23 — u20) + u20(u20 — u1121);
If » = 0 then call the sub procedure. —
Compute I; = 1/U; mod Us. I+2M
wo — r7Y; d11 — wiz1; f10 — w123
Compute S = (Vo — V1)1 mod Uz. (Karatsuba) 5M
W1 = V20 — V10; W2 < V21 — Vil; W3 < 110W1; W4 < L11W2;
51— (@10 4+ 11) (w1 + w2) — w3 — wa(l + u21);
S0 < W3 — U20W4,
If s = 0 then call the sub procedure. —
Compute Uz = SIQ((SQUl + 25V1)/U2 — (F — Vlz)/(Ule)). I+6M
w1 s;l;
uzo — w1(w1(s3 + u11 + w21 — fa) + 2(v11 — sow2)) + 22 + u10 — u20;
uz1 + wi1(2s0 — wi) — wo;
uzp + 1;
Compute V3 = —(SU;1 + V1) mod Us.(Karatsuba) 5M
W1 <~ U30 — U10;, W2 < U31 — UL,
w3 s1w2; wa « sowi; ws « (81 + s0) (w1 + w2) — w3z — wa
V30 < W4 — W3U30 — V10,
V31 < Ws — W3U31 — V11,
Total 21 +21M
In. | Genus 3 HEC O Y2 =F(X), F= X"+ [sX° F aX* T X3+ X2 F iX T Jo;
Reduced divisors Dy = (U1, V1) and Dy = (Ua, V),
Ur = X3 4+ u12X? + u11 X + w0, Vi = v12X? +v11X + v10,
Us = X3 4+ upoX? + upn X + uzo, Vo = v22X? + v21X + v20;
Out Reduced divisor D3 = (Us, V3) = D1 + D2,
Us = X34 u3oX? + uz1 X + uzo, V3 = v32X% 4 v31X 4 v30;
Step | Procedure Cost
1 Compute the resultant » of U; and U, 14M + 124
t1 = u11u20 — u10uU21; T2 = w12U20 — U10U22; 3 = U20 — U10; t4 = u21 —uU11; I5 = u22 — U12; t6e = t%;
t7 = tsta; ts = wrpuo1 — uriupy +t3; to =13 — tats; tr0 = tots — t7; = tato + ta(t10 — t7) + tate;
2 If r = 0 then call the Cantor algorithm -
3 Compute the pseudo-inverse I = i, X2 + ;X + g = r/U; mod U, 4M 4+ 4A
io = tstg — le; i1 = uo2iz — ti0; G0 = uz1i2 — (u22t10 + to);
4 Compute §" = s, X> + s/ X + s), = rS = (V2 — V1)I mod U, (Karatsuba, Toom) 10M + 314
t1 = w10 — v20; 2 = v11 — V21, {3 = V12 — v22; ta = tai; ts = tiio; te = t3iz; t7 = uoots;
tg =ta +te + t7 — (t2 + t3) (i1 + i2); to = uz0 + uz2; t10 = (to +u21)(ts — te);
to = (to —u21)(ts +t6); sy = —(uaots +ts5); s5 =te — (sp + ta + (t1 +t3)(io + i2) + (t10 + t0)/2);
sy =ta +ts + (tg — t10)/2 — (t7 + (t1 + t2) (G0 +i1));
5 If s’2 = 0 then call the Cantor algorithm —
6 Compute S, w and w; = 1/w s.t. wS = 8"/r and S is monic T+7TM
t1 = (rsh) 71 to =rta; w = t15Z; wi = rlo; so = las); s1= las};
7 Compute Z = X7 + 2, X+ 23 X%+ 2, X2 + 2, X + 29 = SU; (Toom) 4M + 15A
te = so + s1; t1 = u10 + w12; to = te(t1 + u11); t3 = (t1 — u11)(s0 — 81); ta = w12s1;
20 = u1080; 21 = (t2 —3)/2 —ta; 20 = (t2 +13)/2 — 20 + w10: 23 = w11 + so + ta; 24 = w12 + s1;
8 Compute Uy = X% + up X3 + upp X2 + upn X + uo = 13M + 26A
(S(Z + 2w; V1) — wi((F — V;2)/Uy))/Uz (Karatsuba)
t1 = s023; to = (u22 + u21)(wz + w2); t3 = uo1u; ta = t1 — t3; w3z = 24 + s1 — u2;
ts = S124 — U223,
w2 = 23+ S0 +ts — u21; win = 22 + te(2a + 23) + wi(2u12 — wi) — (ts + t2 + ta + u20);
uo = 21 + ta + 5122 + wi(2(v11 + 51012) + wina2) — (uooun + usows3);
9 Compute V; = v X + vy X + vy = wZ + V; mod Uy 8M + 11A
t1 = w3 — 2z4; vio = w(t1wo + 20) + vi0; v = w(tiun + 21 — wo) + v11;
v = w(tiwe + 22 — 1) + vi2; vz = w(tiuz + 23 — w2);
10 Compute Us = X7 + u3 X? + ug1 X + ugo = (F — V) /U, TM +11A
t1 = 2u3; uzz = — (w3 + v3); us1 = fs — (w2 + uz2wz + t1vi);
uzo = fa — (w1 + 03 + uzoure + uz1wsz + tiva);
11 Compute Vi = v3, X2 + v31X + v30 = V; mod Us 3M + 34
V32 = Vg2 — U323, V31 = Ul — U313, V30 = Ui0 — U30Vt3,
Total I +70M +113A

S IOOOOO0O0O &

e IO UOOOOODOO

107+ 3M =23M if I =20M
— g=21I4+25M =45M if I =20M
— g=314+70M =90M if I =20M

-9

e 10DDDDOOO
— #E(Fp) = O(p)

#Jc(Fp) = O(p?)

— Square-root0d o400 (?)
coooooonono:
O (/#IJc(Fp)

34



S IOOOOO00O0 &

e 00028000 ODODODON p = 2160/9
— g=10p ~ 2160
— g=20p=~ 280

— g=230p~ 2%

e DO DOODOODOODO
— g = 101160 + 3Mi60 = 23Mi60
— gZQD 180+25M80:45M80
— g=3D I54+7OM54=90M54

= 23 M0 > 45Mgg > 90Msgy4 777

o 00O 0OOOOOOOOOOONO
OO0000 &

e Adleman-DeMarrais-Huang (1991)

—gguooun <s—
vbogoud deg < s

— ggg: O(Lp29+1(1/2,c < 2.181)),
logp < (294 1)998, g — oo

— 000000: O(Lpe(1/2,%),
pY — o0
Enge, Gaudry-Enge

= oo otdod

e Gaudry (1997)
— 00000U00D0D000 deg =1
—0oo: o2

— 00oooo: O(p2—2/9)
Gaudry-Harley, Thériault, Nagao,

Gaudry-Thomé-Thériault-Diem
36



S GaudryDOODODOODOOOOO &
p=17T

C:Y? = x1BB4+5x1244x11 41 6x°
4+2x8 4+ 6X7"+5X%+5X3
+X24+2X+6

#Jc(Fp) = 208697: 18 bit O

Do = (

X0 4 o2Xx544x44+ X3 4+5X2 43,
AX5 4+ 5X342X24+5X 4 4)
Dy, = (

X%+ 6X3+3X241,

3X44+ X3 4+4X24+ X +3)

C(FP) — {P007 (17 1)7 (17 6)7 (27 1)7 (27 6)7
(4,1),(4,6)(5,3),(5,4),(6,3),(6,4)}

#C(Fp) = 11

ooy
T={(1,1),(2,1),(41),(5,3),(6,3)}
[9343]Db :(

X5+ 6X4+6X34+5X246X + 4,
X4+ X34+ X24+4X46)

X°+6X*+6X>+5X2+6X+4=
(X —1)%(X —4)?(X - 5)

X4 4+ X34 X°4+4X+6|y_1=6

X4+ X34+ X2 4+4X+6|y_u=1

Xt + X34+ X°4+4X +6|x—5=23

[9343]D, = —[2](1,1) +[2](4,1) 4+ (5,3)
38



(

\

(Indp, (1, 1))

\Indp, (6,3))

[9343]D;,
120243] D,
121571]Dy

120688] Dy,
151649] Dy, |

(-2 0 2

IndDb(Q, 1)
IndDb(4, 1)
IﬂdDb(5, 3)

0 ((1,1))
—2|[(2,1)
0 |1(5,3)
\(6,3))

( 85159

114347
182999
22360

\136908}

mod #Jc(Fp,

"

Dg, + [105454] Dy =

Indp,(1,1) 4+ 2Indp,(2,1)
+Indp,(4,1) —Indp,(6,3)
—105454

85159 4+ 2 x 114347
+182999 — 136908
—105454

45793 mod #Jo(Fp)

40



= 0(g'g>p(logp)3)

\

([ [9343]Dy

120243]
121571
120688]

151649]

o 10000 &

Dy,
Dy,
Dy,

((1,1))
(2,1)
(4,1)
(5,3)

Dy

#T = O(p)
000000 oooooooon

— ¢0000000000: O®Y)
— 1000000000
¢0000000000: O(pY/gh)

= O(g")

JacobianO0 OO 0O: O(g?(logp)?)
00000000 : O(g3(logp)3)

\(6,3))

é GaudryO O OOOOOOO &
guooboodh:

O(gp?(log #G)?) = O(g3p?(log p)?)
00000

O(g'g3p(log p)3) + O(g3p?(log p)?)
000000000 n () 000000

00000¢0000000rho0O0O000
O(VF#G) = O(p9/?)

Sugb40onoobuoouan
rho0 000000000

42



S DOOOOOOOOO &
00 (Gaudry.Harley)O
ODodddbooddoooddgoooddnn
—

Jooboodoogod

#T =0((p"), 0<r<1000
O(p) + O(p?) —

~

O (%pr)_l_é (pQT) — 0 <pg—|—(1—g)r + pQT)

O <pg-|-(1—g)r + p2r> — 0 <p2g/(g—|—l)>

oo 3tuuoooougod
rho0 000000000

110
100
90

Cost 80

S 100000000 &
oo uotdod
oot

70
60

50

40 H

44



